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Kegel (Lösungen)

1. 33◦

2.
√

3 π bzw. 311,8◦

3. α = 288o

4. (a) 56,10

(b) 169,40

5. (a) 6, 53

(b) 0, 094l; 16

(c) 2r2π + 2rπh = A ⇒ r = −h ±
√

h2 + 2A

π
⇒ r ≈ 7, 62cm

⇒ V = r2πh = 463cm3

6. O = (75 + 3
√

10) · π

7. (a): 5

3
a (b) : 216◦ (c) : π

16
a3

8. r = 6cm; VK = 324π cm2; VZ = 432π cm2

Gesamtzahl der Kegel = 12 000 ·
VZ

VK

= 16000

=⇒ 4000 Kegel nachbestellen

9. V = 54,6π cm3

A = 56π cm2

10. 1393 cm3 und 15,86 cm

11. VZ : VK =
√

6 : 2

12. ̺ = r

2

13. 335mm3; 4,4 cm; 664 g

1


